RN 4 R = B IRGR T KK RS 1/2
HIH @ 20224E7THIH () ~7TH10H (H) S ZHEAZBMG AR—Y Ok $5FE KB (50m)
No.12 BF 50m ik &E ¥ sER 2157
B K 4 T B 2E KE B E
1 &8 B J F ERikE —% 13/ 4 28. 85 9%
2 KB EK HEFH R H =3 11/ 4 30.19 9k
3 BH = H7YEesSSsS k2 11/5 30.78 8k
4 BH HEE BEE =l 12/ 5 30. 86 9%
5 ARl —K FU T =1 13/ 5 31.24 9%k
6 AR FEKR IS C 3 12/ 3 31.29 10i%
7 HE BiX w7V esSSsS &3 13/ 6 31.33 Stk
8 =K FHH AL R =1 13/ 3 31.38 9%
9 Rl HE AP H 3 12/ 6 31. 47 8k
10 Bkl Uag HHZRA F3 11/ 2 31. 60 9%
11 3K KA HT72ASS &L 13/ 2 32.07 SH
12 ‘EH KA Hhy7SC  H3 12/ 2 32.65 %
13 =% —f J S SR 1 13/ 7 32.78 116%
- JOC
14 =35 KEA ALY F3 12/ 7 33.57 8k
15 RH HiF SCHhx 1 10/ 2 33.76 SH
16 mH B WHHSC —f% 11/ 6 33.87 5%
17 fH R HEry7SC 3 12/ 1 34.09 Tk
18 /By JEE HhyFSC  H3 11/ 7 34. 49 Tk
19 BEy BR v — MARK =3 10/ 5 35.12 5%
20 Z=)1| §kA] IWHAHS C 2 10/ 1 35.76 %
21 HE J SSH¥ F2 11/ 8 35.77 6%
22 FEHKHETHK ZM4S S 3 10/ 6 35.92 6%
23 g FARS HT7%2ASS 1l 13/ 8 36. 06 S¥
24 FAF: L JSSHT 2 10/ 3 36.09 Tk
25 KL PR BHIE 13 10/ 7 36.12 6%
26 I B5FH J S SR /N6 9/ 3 36.19 8k
27 F&H 73 HT7HESS /6 8/ 3 36.39 9k
28 PHH ¥ A= =3 12/ 8 36. 52 3k
29 M Ko 7 e FH 3 10/ 8 36. 56 45,
30 FH[  FEFR A4 h~4E e 9/ 8 36. 65 9%
31 i BRE H7HesSSsS H3 8/ 4 36.70 5%
32 KA Fik SPRE7Z=F 0 1 8/ 2 37.14 %
33 /NG " Ly 7SC w2 9/ 1 37.32 6%
34 B5H Bt AU A 13 9/ 5 37.38 45%
35 Hrhm  EIK 7Y e FH =R 9/ 6 37.40 3%
36 g ZEAH 7H e TH 3 9/ 7 37.83 45
37 R[] H k> 7S C H13 8/ 5 37.97 45%
38 a7k 17 %€ /S S 12 8/ 7 38.45 51k
OPN JHE IR} ~N 2RSS x3 11/ 3 33.14 5%
OPN #4553 2SS 2 10/ 4 33.79 T
OPN K78 {FH RZANRS'S *2 9/ 4 34. 89 A%
OPN miJll Eic WAHSC =113/ 1 36.58 45
OPN K- HEEE MBS#/n" =) H2 9/ 2 37. 44 65%
OPN K& i WIS C =B 7/ 4 39.04 6%
OPN ZH = e S C 2 8/ 1 39.12 45K
OPN #iH kAT HBTHESS /)6 7/ 3 40. 28 5%
OPN 1 JE bl A EA THeTH NG 7/ 5 40. 58 5%
OPN HH MH=E aF/SS NG 7/ 6 41. 66 6%
OPN EA {HBE BT AN =8| 5/ 3 41.92
OPN & #hifE WAMSC 12 2/ 5 42.18 28
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HIH @ 20224E7THIH () ~7TH10H (H) S ZHEAZBMG AR—Y Ok $5FE KB (50m)
No.12 BF 50m ik &E ¥ sER 2157
EhI K 4 T B 2E KE B E
OPN JEPN  Feh#H BT AN =2 7/ 2 42.74
OPN $5J7 +hfE A= B2 7/ 1 42.77
OPN jE T MR JSSHT ==h] /7 42.92 35K
OPN Il B3k 4 = = 6/ 4 43. 81
OPN i) & FES S N6 6/ 2 43.97 2%
OPN 3 A J SSH¥ NG 6/ 3 44.06 4%
OPN HJE I SPEE7Z=F 0 NG 7/ 8 44.10 A
OPN fEH EEE IWHEHS C 12 8/ 8 44.10 Ltk
OPN ¥R &9 Hhv7S NG 6/ 7 44.12 45%
OPN /K& EAr HEH S NG 5/ 4 44. 20 25k
OPN &% RiEE o2E/SS Ml 3/ 3 44. 89
OPN g Jib kv 7S C N6 6/ 8 44. 95 45
OPN #EJ5i (e YAV /N NG 6/ 6 45. 04 25
OPN &4 V& DTN /N 5/ 7 45. 06 %
OPN LA KFH WHMHS C /N6 4/ 5 45. 14 A%
OPN ikl 247 g =8 4/ 6 45. 42
OPN ¥ F & WIS C /N6 5/ 8 45. 46 Lk
OPN ZEH  #970 4 = = 6/ 1 45. 66
OPN &+ #EK ~y7FSC /N5 4/ 4 45. 67 6%
OPN Rl ZH YA N NG 5/ 5 45.70 1%
OPN 3bA ¥t v — MMafk M1 5/ 6 45. 80 1%
OPN BiiH #EFH J S Stk /NG 4/ 7 46. 29 5%
OPN HH  BEHL IWAFS C /NG 5/ 1 46. 30 5#%
OPN )11 2444 =} o€ /SS /N5 5/ 2 46. 94 5%
OPN H4  HE YA N /N5 6/ 5 46. 96 55k
OPN f1H Bl a%/SS /NG 4/ 8 47.87 27%
OPN JILBH Bk ~N2ZRS'S /N6 4/ 2 47.99 25
OPN [LiAS  HiJ& J S Sk NG 3/ 5 48. 06 27%
OPN H#kE= & HEFH R H NG 3/ 6 48.10 2%
OPN R Fhsk A v r4E S 2/ 4 48. 22 45%
OPN Hij)Il  Zfs B — MK Ml 2/ 8 48. 24
OPN [LH Zh VYAV NI /N5 4/ 3 48.52 45,
OPN {AIA & A7 J SSH¥+ /NG 3/ 8 49. 66 3%
OPN $5AK V&R AR SRR 7N 4/ 1 50. 01 5%
OPN 5 A4 hv4E M 2/ 3 50. 52 35
OPN & Beksf eIy NINfiE NS 1/ 5 51.38 28
OPN HH 1@ J S SHABK NG 3/ 4 51.76
OPN % ZE s MBSH/A =7 /N4 2/ 1 52.58 3tk
OPN NH 7&K a%/SS /N4 2/ 2 53.56 3%
OPN Bk HEFL ~N 2RSS /NG 2/ 7 53. 56
OPN G&7 J&3E J SSH¥ 1 2/ 6 54.33
OPN FJII  #bpd ZE/SS /N5 3/ 1 54. 41
OPN #afif] A K ~NZRS'S /N4 1/ 3 54. 62 2%k
OPN B it ~NZXS S /INB 1/ 6 57.06
OPN &g KZ ~_2ZRS'S /NG 1/ 2 57.17
OPN i Fni# ~N 2288 S /N4 1/ 1 58. 14
OPN BMEIE LBA ~R2Z/RS'S /N2 1/ 8 1:19.18
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